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CEREALS FOR FEED - RYE 

• 2002 – Rye wasn’t recognized by the consultants 
• 2010-2012 – Trial period - replacing  wheat with rye. 
• 2012 – Results showed significant improvements in the sow house. 

• Rye have a longe digestive period 
• stabil blood sugar 
• Less activity  among the sows when there activity in the sow 

house. 
• 2015 – Slaughter pigs – 3 fase feeding. 

• 60-110 kg pigs ad libitum feed. 
• Replace barley and wheat with 30-40 % rye 

• Less feed due to digesting period. 
• Gives 1 % ekstra meat procentage. 
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MUST HAVE – LESS ERGOTS 

• Harvest 2013 
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MUST HAVE – LESS ERGOTS 

  Harvest 2014 
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MUST HAVE - LESS ERGOTS. 

ØKO  2014 

Område   Prøver Mængde kg Rens % Meldrøje % Maks meldrøje % 

8 ukendt              17               374.460       2,0         0,002                  0,020  

11 østsj.            123            2.758.880       1,4         0,005                  0,330  

16 vestsj.              72            1.414.740       1,9         0,001                  0,040  

20 loll.falst.              48            1.548.560       1,5         0,002                  0,040  

40 Fyn              25               571.800       2,2         0,001                  0,010  

50 Sydjyll.            211            4.493.960       2,2         0,004                  0,100  

60 Sdr. Jyll.            400            4.311.050       2,2         0,002                  0,070  

70 Midt Jyll.            317            6.587.700       2,5         0,012                  0,590  

80 Nord Jyll              35               931.500       3,1         0,015                  0,150  
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MUST HAVE – LESS ERGOTS 

• – Harvest 2015 
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MUST HAVE – LESS ERGOTS 

• Harvest 2016 
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COMPARISON 
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COULD HAVE - PRODUKTION  

• Change of soil treatment for the light soils? 
 

• Change of habitat around the fields with rye! 
 

• Change of habits with crop rotation! 
 

• New varieties ? 
 

• Why does the organic rye show less content of ergots when density of 
straws is pure compared to conventionell rye (2014)? 
 

• Improve statistics with species – could that help? 
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SHOULD HAVE 

• Low content of ergots in rye. 
– Expensive for the farmer 

– Lower yield 
– Expensive to seperate 
– Can not be used directly at farm level 

 
• Maximum level for  

– Feed 0,1 % (separation – colour seperator) 
– Food 0,05% ( colour seperator) 

 
– Alternative – maximum level for alkaloids content ! 
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